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This queston paper is diided into two sections — Section - A and Section - B .
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In Sectlon - A, there are 50 objective type questions which are compulsory, each carrying 1 mark Darean

the circie with blueblack ball pen against the correct option on OMR Answer Sheet provided o you
Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheel; otherwise the result will be invalid.
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In Section - B, there are 25 short answer lype questions (each carrying 2 marks). out of wheh any 15

Questions are o be answered. Apart Irom this, there are 8 Long Answer Type queshons (Each Camyng §
marks) Out of which any 4 questions lo be answered.
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0T -3/ SECTION - A
== T¥ /Objective Type Questions

SN 5 I we Ry S oun. sheor Al (50x1=%0)

o
fm‘. Yo 10 S0 hare four options, out of which only onc is correct. You have 10 mark, your selected
POR, 0m the OMR - Sheer (50x1=50)

N -~
alnta] = o

(RY) 2
== SIX cosx (B) 2sinx
() 2
: A (D SINX COSX
T o S mEamans [r 5]
-l L \ l B
'C - B 15
{
' 3 (D) 4
- ‘“ML s ] =01s-
5 B -1
© 4 D) &
3 1 2 4
T [1 3 6|FTE-
1 4 9
A B -l
1) 0 (D) 2
1 2 4
The value of the determunant |1 3 6| 1s-
1 4 9
(A) | (B) -1
(C) 0 (D) 2
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A)  Llyntliy , toaa-t2sk

( “un u¢k y .un .0

€ luantlisk D lgat= ek
‘. t ‘ o

6. =Yy 33 ¥ ® aendin T wRem B
(A) Cyde-(x’+y' Wy =0 _m (xy)dx = (x* + y'dy=0
(O 2x+y=3)dy - (x+ 2y -3)du =0 D) (x=yMdy = (xF +y+ I

Which of the following 1+ 2 homopenoes dfforeatial oquaton
A Xydx-(x"+y'Wy=0 B (oy)dn - (x4 y* )y =0
() v+ y=3)dy - (x 42y - I =0 (D (x-yMy =(aP +y+ Idx

T afm19i+5i-6k W waw @ -

A A2 @ Va0
([ NI 5T _um Va2l
The madulus of the vector 197+ 57 =6k -
A 322 B V320
© V& O Va2
8 b ="

| @ £

(o) :‘%‘. (D) é
2
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% W= 3= YaucA, A A B P EE fn’

W -t (T (B) W

(C)  JNTOURE D) AT (A ®)

I f(x1) = fx2) = X1 = X2 ¥ X1, x2 € A, then what type of a function 1 £ A = B?
(A) One - one (B Constant
(C) Onto (D) Many one
0. a2 A= : : Zl.a\ﬁqﬂmdaﬁa,\';ﬁm@’
W21y ® [+ 59
S 4 6 1 2 3
o4 m [36
2 5 5
3 6 1 4

IfA= Il & < . then which onc of the following is equal to A”?

4 S 6
(A) 2 1 3] ' (B) 4 5 6|
S 4 6 1 2 3
(C) 1 4 (D) 3 6
2 5 29
3 6 1 4
1. p1ex_
Iz x &%
2 e B 3
(A) l()g3 (B) I()g2

| | x
J.ef log3 D) log;
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13.

14,

o2 —lex<|, M 2an'y =

AT sin”! 2 (B)

14x?

i g,,-l"" D)
14x?

If ~l<x< |, then 2tan 'z =

@) sin~! & ®
1427

‘C’ '-lz m'

sin”!

] +x!

{:A—B JToTe &= gm oft -

(A) f(A)cB (-

(&} f(AV>B m

f A — B will be an onto fuactos of -

(A) ftA)cB (»

(C) f(A)>B m

nn-' P

'I(A)-I
ftA)e B

ftA)=B
ftA)»B

afk P(A) = ;. P(B) = ;. (ANB) = ; # PAUB) = ?

(A) (®

(©

A

I(P(A) =2, P(B) = ;. P(ANB) = ;. den AU B) =

(A) ; (B) %
(0 ; (D) 5
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15. 5 g o) i TRE Y o e 4 R s @ @ A g o R

(A wgeE s awom # By awfa e R ¢
(G w8 my g A

In the sct of all straight lines in a plane, the relation R “1o be Ptﬂ'"dicuh'“ e
(A) Reflexive and transitive (" Symmetnc and transitive
(C)  Symmetric () None of these

16. [sIn20° —cos20°
sin 70° cos70°l

Ay -1 (B) -1
AC) 0 (D) 2
1. illoux] = ?
PV % T
- 1
(C) | 1)) L,
18, *
e sin’xdx =?
1
(A) -1 -B) 0
(€) | (D) ;
i Jj cosxdx = ? :
(A -l B
(C) 'E ™ 0
20. i[sln“:ﬂ cos™'x] = ?
,’/ i .
(C) ‘:’.i—.! (D) %»’_1 -x1
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(A)  PA)Y+ D)+ MA N B) ("
O PR e -AND ()

MA) - P - PIANB)
P(A) - PIB) + PANB)

d
= Ilanxl:?

—4A) sec? x " secx
() cotx M —sec’x
B s TN L 4 ysecx = tanx w1 WREE T & -
A secx +tanx (B)  secx—tanx
(&) secx (D) tan x sec x

Integrating factor of the differential equation % +ysecx = tanxis-

(A)  secx+tanx (B) secx—tanx
(C)  secx (D) tanxsecx
2 sln";- =7
(A)  sec7'x By cosec™'x
(€ tan~'x (D) sinx
25. kxk="
(A) 1 (B) -l
(8) k? \(9/ 0
26. afX WA e,asb=2a+bA WRAAT &), A (2+3)+48 -
( 18 (B) 17
(C) 19 D 2

The operation * isdefinedasa*b=2a+b,then (2+3)* 4 is-
(A) 18 ® 17

(C) 19

(D) 21
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27, e A=Ta4742Kk Wy gl Viezi-k b (i + 1) (24- ) ¥ et ®
a4 m 18
€ 4y o T
I 3= T4 42kand b'= 3 T 42§ =k , then the value of (.i +3 |;),(2 a- b) o
W s m 18
© a8 o IS

28,

(A) e-vn

(C) eeosx

d
IIFF Wiy ;:-'-ycosx=stnxcosx T YATEAA T ¢ -

-w/ c“ﬂ X

D). €2

Integrating factor (1.F) of the differential equation % — ycosx = SiNXCOSX s -

(A) e~sinx
(C) p-Cosx

29. [x"dx,(n=0)="?

‘f\) L-'+ k
n-1
(C) x4k

0. Gx3)b=?
(A) |

) 2

3L %[sin" x] =7

M cﬂn!

(D) eco‘x
’nol
et
(D) X"+ k
® -

Viext
(©) 7‘:7 (D) Jl—xl
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(A) "
o

5

2 v2 %) ““. fro.¥v" 4
(vl e ) th

*

fe=-Vy = h)

ey el o

(A) Ne-2 yv=8) (" (1=l y=-8)
() =1y =-6) (m (v=-)y=06)
AL pEy=o
(A)  n(E) 4+ n(S) (m s
n(E)
() n(E) - n(S) J_D/ :“_::
M - 35 Res Pam R -

(A) (0.0.0)

(B) (1.0,0)
L& 0.1.0) M.O.h

The direction cosines of z-axis are -
(M (0,0.0)

(B) (1.0.0)
(C) (0.1.0)

(D) 0.0, 1)

35, Prerfafr smagl 4 @9 3x3 79 @ @i g ¥
(A) 1 0 0 ( 1 0 0
1 00 y 01 01
1 0 0 0 01
(€ [0 0 1 ™ [0 1 0
0 0 1 010
0 0 1 0 1 0
Which of the following is the unit matrix of order 3 x 3?
(A) 1 00 (B) 1 0 0}
1 0 0 0 1 0
1 00 0 0 1
€ [0 0 1 ™ [0 1 0
0 0 1 010
0 0 1 0 1 0
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1o/
SAT unx4c () tan’ x + ¢
() oLx 4 ¢ 1} ~eot ' a b
3. 45 (x.y, 2y a1 fefy wfan g -
A yi-yi-zk B)  xi+yj-zk
©  xi-yj+zk U xisyjzk
The position vector of the point(x,y, z)1s -
(A) xi-yj-zk (B) x|+yi-z§
1) xi-yi+zk (i x|+)'|'+lr‘
M. 0450 x - a3marh-
A 3 B S
© Vi ) g @ ag A
The distance of the point (3, 4, $) from x-axis 15 -
Ay 3 B 5
() Vil (D) None of these
3. 1
[ o
sin (&) ?
&’/ n ® _T
4 4
© " m _7
2 2
40. _13 6 _[7 8 ="
A=l 5] 8= o =2a+38= |
A [27 24 BT (27 36
22 10 25 10
€ [27 36 (D) E" 36
25 15 5 10
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Joomecindy =
(A) tany 4 ¢ IRy ~coty 4 ¢

(1 &) 20000 % 4 ¢ m ~Joowec 4 ¢

Wastian-By=elen-SeRE QL. HNTTd A gTm R -

tA) '_ (R)

- *

The slope of the tnpent 1o the carve x = 17 4 3t =8, y = 2t = 20~ S at the point (2. -1) 18 -
A U ® =2

(C) - (D) 12

T f(x) = 25 e -

(A) | (B) 1
.
MO e (D) !
e
The maximum value of f(x) -‘-'!—'n-
(A) 1 (B) !
L ]
(C) c (D) L]
.
tan'sect‘as?
(A) 0 (B) |
(c_—T" m _"
o 2 2
Pi(A)+PA)=?
(A) 0 (8 |
(C) -1 (D) RE)
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(&) ey a-y
) Syex M 1-x

(A) x4y (B) x-Y

(€) -y-n (D) | -x
e Ji sinxcosxdx = ?

W ® -

(€) % JD)/ 2

mmwﬂmw:—:ful(%)’:xo HNIRE-

(A) | JB(/ .
3

(€) Rl (D)

-

: )
The order of the differential equation -:—3 +x3 (ﬂ) =x*is-

dx
(\) | ~(B) 2
(€) 4 (D)
49, 1 dx _
-ro e
() S @ =
4 4
~ n \ n
(©) = (D) -
50. [secxdx=?
(A) log |secx| + ¢ _,(B/log Isecx +tanx| + ¢
(C)  loglsecx—tanx| +c (D)  secxtanx4c
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Qvs —q9/ SECTION-B

i ¥ /Non - Objective Type Questions
SXRIY W/ Short Answer Type Questions

T W 1 % 25 0y Ty &) ) 15 el @ g 21wk @ R 2 9E Pitfe
& (15x2=30)

Question No. 1 to 25 are short answer type. Answer any 15 questions. Each question carries
2 marks. (15x2=30)

nﬁ [:R=R Gﬁ"i f(x) = (3—:‘,)!' iﬁm mﬁi (foh) (x) =1

Iff:R = Rsuchthatf(x) = (3 - x,); , then prove that (fol) (x) = x
Rig = R - 2)
Prove that -
sec?(tan™'2) + cosec?(cot™'3) = 15
3. Ramf- (2)

Prove that -

!J

- 1 -
tan"'Wx = - cogf'!
2 14X

. Rg ™ - (2)
Prove that -
[cos 15° sin lS°] =
_ sin75° cos75°
5 R & "R s & - 2)

Evaluate the determinant -

4 9 7
3 57
& S 45

”

J/xm)'ﬁmmuf?- )
Find the value of x and y if -

2fg JJ+[1 21=03 6]
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(2
7. 5 ¢4 351

. afk A = Wp=|? - frrd |

XA .|\nn oﬂ4l AD

J 51
6 8B 4

A :—}?}W‘é, afd y = cosvsinx

lfA=|§ ; and D= l.l‘md:\ll

(2)

hnd:-’; ify = cosysin x
. (2)
A %ﬁm af? y = Vsinx
Find %i{y = vsinx

10. 2 Pygrd af? y = cos™! 12X 2
dr 14x?

-1 1-x?

dy .
Fmd o[y = cos 7o

/4 . (2)
\/"- = P 7 y = sin’x cos®x

Fx_nd% il y = sin®x cosSx
W :—E @ af y = tan(x + y) @

gy o
ﬁnd % ify =tan(x +y)

13 77 e - (2)
o
Evaluate -
' J cot?x dx
7 aA frerd -

Evaluate -

J V1 +5sin2x dx
ﬁm- @

Evaluate -

Q)

[gcos2 x dx
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16. £d A -

12.

-~

Sohve -

wdy vy

o
F\" J\Q >

Solve -

xdy + ydx =0

18. F3 N -

Solve -

dn
= 4 ycotx = 2cosx
> dx

\)of'f%t:;ﬁﬁ--

Prove that -
lixb|* = 3 b’ - 3"

A aR §=2i-37-5Kk @ b=~77+6]+8k T dx b WA HY

pi

N

If3=27-37-5k and b= ~77+6]+8Kk . findix b
a2 3= (2,3,-5) IR b=(2,2,2). @ Rrg = 5 7 IR b TR @ &)
If 3= (2,3,~5) and b= (2,2,2) , then prove that 3 and b are mutually perpendicular.

22, 7@ R34 R (ab.c) A A I M http://www.bsebstudy.com

Find the distance of the point (a. b, ¢) from the origin.

9 ad & e g & A g (1, 2, 3) A ToRm @ IR @ I+ dy-52=0 B
FAETR 2

Find the equation of the plane through (1, 2, 3) and parallel to the plane 3x + dy - 52 =0.
2 IR G B B A FR AN A F1 A 8 A A W wRE &, AR aem A B
gEY U W EA 4 7l @

Two dice are thrown. Find the probability that the numbers appearing have a sum 8 if it is
known that the second die always exhibits 4.

8 o P(A)=2,P(8) =2,P(AUB) =3 . A P(3) ma P(3) Pramal

I P(A) =3,P(B) = 3, P(AUB) = then find P (5) and P (3)

2)

(2)

(2)

(2)

(2

)

(2)

(3

2
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. i sadu uE/Long Answer Type Questions
WMx#uwmmml/mﬁfé$mmﬂ‘m5W

Pt &1 5 « vt &1 e 3 (4)(5:?:{
Question Nos. 26 to 33 are long Answer Type Questions. Each question carries § l::zro
Answer any 4 questions. (Ix5=20)

4 (5
2. mtw sma e o @ RIE [0, 4) A wita w T P e (0 = (D (-2) (33

. o5
Verify Lagrange’s Mean Value Theorem in interval [0, 4], where function f(x)=(x-11(x-2)

(x-3). )
27. :—" et a2 x+y=sec' (x-y)
X
Find £ il ey =sec! (x-)
8. WEEIA T - (5)
Integrate -
xet
e I(m)’dx
. g #R - (5
l‘mvclhal
f \cou
\colthG?\—
. qAxi+y =0t mehmmmml (5
/Fmd the area of the circle x* + y* = a® by integration.
B AsRn3i+j+2k TN 27 -2j+ 4k @ D B B T sine T T (5
Find the sine of the angle between the two vectors 37 + 7 + 2k and 272 +4 k..
32 fag a - (%)
Prove that -
I+a 1 1 {2
1 1+b 1 |=abe(1434245)
1 1 1+
. ARIEIO FX (Minimize) z = - 3x + 3y (5)
WA (subject to) x+2ys8
3x+2ys12
x20,y20
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